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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
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will result in zero mark in that question.
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Note: Attempt any three questions. (Tx3=21) Llrfe L crladd -2

@ L s = LS eSS sl b (L by ()5
5. (a) Draw a diagram of internal structure of an animal cell and labeblri(('s any six pars. .

# Gl S bt Ee s e 0l L4 S PPk ()

{b) Which professions can be adopted after blological studies? Explain any four.

@) o £ pigndf S Lehy o ()6
8. (a) Explain three main types of organisms placed in Kingdom Profista.

2 LS5 s Pirre £ R poml S gr ()

{b} Discuss four phases of interphase during cell cycle.

@ te Qb StipmE #8ba AT L unise (CN)-T
7. (a) How energy is released during oxidation reduction reactions in living organisms,
4 s P s S s S H e ()
{b} Exptain structure, location and function of any four types of Epithelial fissue,
@) Sl § L Aty sl (s
8. (a) Explain uses of enzymes in any three industries.
@) LAt B e ML P2 o ()
{b) Describe any four effects of malnutrition on humans.
(3) St R LUt i nJe L gL T (N9
9. {a) Discuss function of three secrefions added in the Duodenum part of small intestine.
@ e LA el i Sedws ()

{b} How blood disorder Leukemia is different from another disorder Thalassaemia?

Part ————————— I Practical Part o -
Note: Attempt any two questions (5%x2=10) & L,j)}f._-,;l?.[. o lrase Jf ey

) L U M L W PSS SR L vl T (L) 10
8. (a) You observed Flower of Brassica campestris {Mustard). Draw it's diagram and fabel any two parts.

@ et St d eyl L LT ()

{b) You abserved Bony Fish. Write down it's four characteristics.

(3) L PSR A Bl Y GEbt e SUTT Ll LT (L) 11
9. (2) You have studied prepared slides of mitosis. Draw diagrams of Metaphase, Anaphase and Telophase.

@ LS SIS e TS 6 fen G0 LT ()

{b} You have performed the experiment of necessity of light for photosynthesis. How and why will you destarch the legf.
@) L IS h LGS fa b F e & Loy e ¥ Jemsu¥ Qe & o TCa 10
10. (a) You have performed the experiment to find the pathway of water in the plant. Describe ihe pathway laken by water
through the stem to the leaf by drawing the diagram as revealed by your experiment.
@ L Pt L O 5O BB 5L T (L)
{b) You ohserved different types of Bacteria, Writw down names of any four types and draw their diagram.
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2. Answar any six parts from the following. {6x2=12} - L{/‘}fa;& i 71d = J:" -2
LIS IR G W s Sdeatirnl f 2 G @
LS /Pl s ) S enbee 3 VIR, ()

Y L/cfi;u:{{é'dr}mu_'u,luifﬁ-:m;/d’b y._;"?;gqfd'u v)
LS pan f LS e By BT ()
_q/(}"u;_,;uw_i‘_’.u»; LhNE A s V"y; (vii)
e inl U () L SEwIIR i el iy
(i} Give any two applications of Horticulture in daily life, (i) Differentiate between population and community.
{iiy Blotechnology helps mankind, justify. (iv Define quantitative and gualitative cbservation giving one example of each.
{v) Explain why biologists report the result of their findings at National and International level. (vi) Give two reasons for the
exclusion of Kingdom Fungi from Kingdom Plantae, (vii} Eucalyptus Is harmful for other plants growing near it. Explain.
{wviii} Differentiate between benign and malignant tumors. {ix) Give two advantages of Apoplosis.

3. Answear any flve parts from the following. { 5x2=10) -~ q)}f;pﬁ&.mé&.—.d! =3
S e W L ) LSOk ci A ()
Aot LI AP S S S A () LA K g L g Uity (i)

e B I TSN L I BTCIANE o sps e it b o & FLAGNK Uiy )
S Sebne JFup A B LU St Ay 20 A5 (v
B =T S ISR VI |
S b L ST SO B L L n L i A Lo (i)
{i)y Give two funclion performed by Cytoplasm. (i) Cell works as an open system. Explain. (i) Show the effect of
hypotonic solaution on animal and plant cell. {iv) Enzymes lower the aclivalion engrgy of chemical reaction, Explain two
methods. (v) Birds have high body temperature than mammals. What would happen to the activity of a bird's enzyme if it
is given temperature of 37C. (vi) Induced-fit model of enzyme action is more acceptable than lock and key model of
enzyme action. Justify. {vii) Explain redox reactions in living organisms. (viii) Compare aerobic and anaerobic respiration
with respect to site of occurrence and final products.
4. Answer any five parts from the following. { 5x2=10) o q):fja',l?. f.;lZlé!._ .;.53:" -4
_p:/.:-’U:Jal}lﬁ U(J M Sl agl b’u».;' {i)
AL Yp Py I f e e sy 3 g V5P ST g A S (i)
Sl Jat £AL P iR (i)
Y Y g outs S2 e B E UL St ue e (A Fb i So Ftl o F ()
_.,5/511 JiL Lenty (Vi) ..L}:’O‘UL-'J‘»J w0 b’c)‘)-fy'/' {v)
SIS e & L otk L P fd = (i)
LIS NS i St (i)
{iy Explain the effect of deficiency of Nitrogen and magnesium on the plants. (i) If we supply inorganic and organic
fertilizers te plants, which one whould be first available to the plants for uptake and why? (i) Balanced diet differs with
age and gender, Explain. (iv) Pepsin is a powerful protein digesting enzyme. It does not digest the stomcach walls, which
are mostly proteins. Justify. (v) Give harmful and beneficial aspects of transpiration.  (vi}) Differentiate between source
and sink. (vii} Patients bleed from the nose, gums and under the skin in dengue fever. Give reason.
{viii) Define universal donors and universal recipients.
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2. Answar any six parts from the following. {6x2=12} % L{/‘}fa;& i 71d = J:" -2
LSRRGS S el 2 Ginrin @
DL LS P A () VY SITIPR VI CHIBT £10< )

LAl LB o/ e e AV D W)
S R T e G’&(A’f&yﬂp {vi)
—Llfrg'“f—”ww_i[-u»{ L'!Z'U:J'ﬁ!v}?,-fu’z"‘"); (vii)
R B T U () L SEwIIR it el iy
(i} Give any two applications of Horticulture in daily life, (i) Differentiate between population and community.
{iiiy Blotechnology helps mankind, justify. (iv Define quantitative and gualitative cbservation giving one example of each.
{v) Explain why biotogists report the result of their findings at National and International level. (vi) Give two reasons for the

exclusion of Kingdom Fungi from Kingdom Plantae, (vii} Eucalyptus Is harmful for other plants growing near it. Explain.
{wviii} Differentiate between benign and malignant tumors. {ix) Give two advantages of Apoplosis.

3. Answer any flve parts from the following. { 5x2=10) - q)}f;pﬁ&.mé&.—.d! -3
S e R B E T i) L0kl pa A ()
b uR pa LI APE SIS A () LI B g L g Uity (i)

e O I TSN ISR BTCIANE o sps i it o & FEIGNK sty )
LSl ot B LU St DAy 26 A5 (v
Ll At e (il
S b L S ST B L L n L i A Lo (i)
{i)y Give two funclion performed by Cytoplasm. (i) Cell works as an open system. Explain. (i) Show the effect of
hypotonic soloution on animal and plant cell. {iv) Enzymes lower the aclivalion engrgy of chemical reaction, Explain two
methods. (v) Birds have high body temperature than mammals. What would happen to the activity of a bird's enzyme if it
is given temperature of 37C. (vi) Induced-fit model of enzyme action is more acceptable than lock and key model of
enzyme action. Justify. (vii) Explain redox reactions in living organisms. (viii) Compare aerobic and anaerobic respiration
with respect to site of occurrence and final products.
4. Answer any five parts from the following. { 5x2=10) . q):fja',l?. f.;lZlé!._ .;.53:" -4
_p:/.:-’U:Jal}lﬁ U(J & sl Sast Kuns (i)
DL I I f e e sy 3 g i) ST S g A S (i)
Sl Gt #AL P iR (i)
ey e s SRk B S S ity Sy e TG L S B8 g B ()
_.,5/511 T Lot U vy ..L}:’O‘UL-'J‘»J 20 b’c)‘)-fy'/' {v)
S e & L sk L P fd 5 i)
S W SN SR ia Fat (il
{iy Explain the effect of deficiency of Nitrogen and magnesium on the plants. (i) If we supply inorganic and organic
fertilizers te planis, which one whould be first available to the plants for uptake and why? (i} Balanced diet differs with
age and gender. Explain. (iv) Pepsin is a powerful protein digesting enzyme. It does not digest the stomcach walls, which
are mostly proteins. Justify. (v) Give harmful and beneficial aspects of transpiration. (i} Differentiate between source
and sink. (vii} Patients bleed from the nose, gums and under the skin in dengue fever. Give reason.
{viii) Define universal donors and universal recipients.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question.

(D) (C) (B) (A) QUESTIONS SNo
L,:L}"l RS JL:‘I"‘I LK Yew -ur gl:'/}ra - :»A;'T'Ja:b=? 1
Extreme Antecedent Consequent Median In a ratio a:b, "a" is called
25 % 2.5% 10 % 5 % RS ANTNS ST Busgr| 2
On a crop produced on artificial resources
Usher is deducted at the rate of:
10 % 13 % 30 13 0.13 as percentage is -‘Ll_/.;‘é,uéu( 0.13] 3
15000 2000 25000 2500 e e & 37§55, 110000 4
What is amount of Zakat on an amount of
10,000 is:
.-;?.)1584 Rs. .%.)1684.32Rs. .-;.?.u785.3 Rs. .-';.;1800 Rs y:};‘g I 6% 3% sl %.3)?28 6“5 bA f;.a.r,',//' 5
_gfxl{
What is the selling price, when MP=Rs.728
Discount = 6%
Ses ! i S g Veiatl e bn e | 6
Profit Mark up Premium Bonus The return earned by the bank on loan is
named as
J‘G J"Ci‘l*'" u”gf{’ SedrLE The tax in Ut 2."/ LY, Jg dutr el i u’f 7
tax Sales tax income tax excise duty | addition to the price of the article is called
1200 700 600 500 Juf = U - Jm%/,_, e Ji L =i <12000| 8
..gj‘fi-)} ﬁu ":
The value added tax at the rate of 10% at
the marked price of television of Rs.12000 is
2% 272 2 # oD = 0
a Jab ab a+b gl pre Lk giiars” | 10
h 2 In an A.P, Arithmetic Mean is find by the formula
+8 16 4 64 —e b A6 1614 11
What is the Geometric Mean b/w 4 and 16.
{4,5,6} {6} {5} {4} €S 203 ¥R MR=((4,5),(5,4)(5,6)(6.4)}1| 12
If R={(4,5),(5,4)(5,6)(6,4)} what is the domain
of R
o (ANB)® A°NB° A°U B° (AUB)°=? 13
(1,0) (0,1) (0,0) (1,1) gl el iun] 14
What are the coordinated of origin
JE SIA e o2 g EAGIE =8 b St | 15
] ) o ) The difference between maximum and
dispersion deviation Variance Range minimum value is called
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2. Answer any SIX parts from the following 6x2=12 _J,&;"gym[_rmg = ch..uﬁ J_i o -2

E e J T I e 42 084%E 5T ()

If 8.4% of a book consists of 42 pages. find the total number of pages in the book.

Find the value of x in the propotion 20:50 :: 8:x -L{'.-fr':l-'-’;‘f Jx U5 £20:50 :8:x (i)
If the price of 20 pens is 2000, then find the price of 40 pens. _ufyzy/;‘f J(F40~_{Tr Junl .-'.?.»2000(E‘20 (iii)
What is the difference between direct proportio and Inverse proportion. e J)L_A/;_,t". ng"../l-}'»f:/u A (V)

s BT e fut e 138505 ke 13450 AL (v)
A bicycle was purchased for Rs. 3450 and sold for Rs.3850. Find the profit percentage.
Write the formula for profit percentage. _J:."JUy‘;Li Ki_)/r':l"ﬂ J b" (Vi)
PR ULyt e 34528 S B0t S i)
Distribute Rs. 720 as profit amongst three people, so that their shares are in the ratio 3:4:5
What is difference between debit card and credit card. i J)l{;_,t‘.’ 51’{&&)/.:’)[5){-.”-‘53 (viii)
Lt E U e T 2620100008 36 B L e LSS0 10%A0 (i)

If we invest Rs. 1000 in a saving account at 10% profit per year, How much would we have in one year?

3. Answer any SIX parts from the following 6x2=12 _q&fggmgﬁ (714 c..(jsrc.. e J_’j en- 3
What is difference between sales tax and excise duty? e J)l-,ﬂj.‘.' Sg;";?w,/fj:f Jg}k-’ (i)

et B F I L s s e 2180002 By i St Hxenund )
A sales tax of 16% imposed on television. If the marked price of television is Rs. 18000. Calculate the total amount one
has to pay, if he wants to purchase it?
S e L 8 U1 Tl & 02000 T b/ K 0sBUt 2 6 (i)

Khalid works 6 day-week. find his gross monthly wage, If his rate of pay is Rs. 200 per day.

What is difference between Characteristic and Mantissa? - J)l-/;_,ﬁ‘.' «I.,f}:'»f,.vlc'» (iv)
Write 0.00018 in scientific form. _ﬂgu.‘.' ff}u’."{vf 0.00018 (v)
If logx=2.0374. Find the value of x. & pred Exinlog x= 2.0374.1 (i)
What is meant by Geometric Mean. —eslA e bad A (Vi)
Which term of A.P 6,2,-2,........... is -146. —e-1 462} ;ﬁf 6,22, b k37 (v
Find the 5th term of G.P 4,-12,36,........ RN N 4123643~ (%)
4. Answer any SIX parts from the following 6x2=12 Gl fep L e Me tSion - 4
Define compliment of set. u:)r._fq/;"d/ M‘{Z..b,r (i)
Write two binary relations in A if A={-2,14} _u:."gjy Gl-f» A JA={-2.1 ,4})51 (ii)
Find AxB and BxA if A={ 3,5,6} and B={1,3} _af..fr';l*”Ax B.s(BxA ¥xB= {1,3}.s/A={3,5,6} A (iii)
What is meant by cartesian plane. _<;_,'I/l"/:, Ji‘-“o’":i{ (iv)
Draw the point (2,-4) on graph paper. _'z':ﬁu;{; JI’/?A(2,-4)J:3? (v)

S Js{er/ufur»r/u,;é:;_srﬁ’c:(s ,3)3l B(-6,-3),A (7, 2)bE (Vi)
Draw the points A(7,2) and B(-6,-3)and C (5, 3) on graph paper and join them to from the figure.

Define Frequency. _u:."q.y/"lf;ﬁ (vii)

Define Arithmetic mean Write its formula. _uf‘gUy‘;L‘uf ..y;qu}u (viii)

Convert 95 F° (Forhenhiet) to C° (Centigrade) _EE Jeute® SO5F° (ix)
| ed ] @ SRR
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Part II (1) -
Note: Attempt any THREE questions. 8x3=24 I fe W Lty Y i

@) -&trtig e E e b & o Aos 3 Y 12% T % S r52% = U2 P E Sy A 400 kg Sl 1 (D5
(a) An aeroplane carries 400 passengers, 52% of the Pakistani,17% were from Iran and the rest were from British, How
many people of each nationality were on the plane.

@) - xdTEL 15000 §Skp i I7 322,840,000 S s 2 b b 3 S0y JTA0 s JI10 (L)
(b) Calculate the amount of Zakat on 10 tola gold and 40 tola silver, if the rate of gold is Rs.40,000 per tola and the rate
of silver is Rs. 5000 per tola.
@) IS T el ST b S 2B Fe 3t 1200 i NSy Bae 3T %J;[,-'r 8T ()-8
(a) A man sold an almirah at a profit of ?%% had he solf it for Rs.209, he would have lost 2%. For how much the man
purchased it.
(@) BtV &l 1Y P 8600 G 57 SAul LA 8% F ol (D)
(b) A compay borrowed Rs. 6600 from any Bank at 8% simple markup per annum. How much did the company owe to
the bank at the end of 11 months?
MF 24§ e 2/500 A A7 530007501 i 2,3500 501 1/ 518000417 ot S gL (-7
(4) -osY
(a) Claculate the gross monthly pay of a person if his Basic Pay is Rs. 18000,House rent allowances is Rs.3500,
Dearness allowances is Rs. 3000, Conveyance allowance is Rs.1500 and Medical allowance is Rs 500.
(b) Show that (4) 3]0g4+2log5—§log64—%logl6:2 S (o)
(a) Find three A.Ms between\/g and 9\6 (4) _L{'f;lﬁl"k/: d‘?uf;)_l(w 2 9\6 sl \/5 ()-8
(4) A={46} , B={6,89} , U {4,6,89,10} )7éa;bwff;£ -ij‘dj ()
(b) Verify De Morgan's Law if U={4,6,8,9,10} , A={4,6} , B={6,8,9}
(a) Drawthe graph of y=4x+1 (4) -r;fr _él'f'ﬁ'b"y=4x+1 =hls ()9
@) e 50 & 123468100 (D)

(b) Find the standard deviation for the values 1,2,3,4,6,8,11. Also find the variance in this case.
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